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SIMILARITIES AND DIFFERENCES BETWEEN THE ENGLISH VERB
BE AND THE RUTHENIAN VERB BYI]

The verb be has been thoroughly researched in English language, and its equivalent in
Ruthenian language, the verb 6yy, has been researched as well, although not as completely.
However, the attention has not been given to contrasting these two verbs. For this reason, in
the first part of this paper, the author will collect and present relevant research of several
linguists of both languages, and in the second part, she will contrast these verbs through the
analysis of the survey, which contains sentences relevant to this topic, originally in English
and translated into Ruthenian. Based on the previously mentioned research and analysis, the
author will provide a conclusion in which the explanations about how the verb be is
transferred or translated into Ruthenian language will be given. Additionally, in the
conclusion, the author will emphasize the similarities and differences between the two
verbs, concerning their use, form and function.
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1. INTRODUCTION

In this paper, the research and publications of both English and Ruthenian
linguists will be used, in order to contrast verb be in English and verb 6yy in
Ruthenian. As these two languages are Indo-European, there are some similarities
between these two verbs. However, since they belong to different branches, some
differences are expected in these languages concerning this topic.

The use, form and types of both auxiliary and lexical be in English
language have been thoroughly analyzed by linguists such as Thomson, Martinet,
Quirk, Huddleston and Pullum. Their grammars provide detailed description of
grammatical, syntactical and semantical aspects of this linguistic phenomenon. In
Ruthenian language, the authors that focused their attention on the topic of the
auxiliary and lexical verb 6yy are Julijan Rama¢ and Mihajlo Fejsa, thus defining
and explaining its use and form.

Since in Ruthenian language the contrastive linguistics was not given much
attention, there are few sources that can be used when contrasting Ruthenian and
English languages. For this reason, the main purpose of this paper is to provide a
source for further contrasting works, as well as to give a new perspective about the
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two verbs in question and contrastive linguistics in general. The similarities and
differences are emphasized so as to provide more information about the Ruthenian
verb 6yy that arise from contrasting it with the English verb be.

In the first part of the paper, the task was to present relevant viewpoints of
the mentioned above English linguists about the verb be, as well as to find the
necessary information about the verb 6yy by using the Grammar of the Ruthenian
Language of Ramac¢ and papers about sentence constructions and time and aspect
written by Fejsa. In the second part of the paper, in order to observe the similarities
and differences, a survey was used that functioned as the corpus of this work. The
survey contained the list of examples in English language that were taken from the
English grammars used previously for the chapter two. These examples were
translated into Ruthenian by the students of this language, and through the
comparison of the original and translated sentences the results were obtained, based
on which the conclusion of this paper was written.

2. THE VERB BE IN ENGLISH LANGUAGE

Huddleston and Pullum (2002: 113) state that the auxiliary be has two
functions, first of which is as aspect auxiliary.

Ann is learning Spanish.

The weather has been improving.

The second function is as passive auxiliary where it takes on the
inflectional properties of the verb of the corresponding active, except that any
person and number features are determined by agreement with the passive subject
Ann was awarded a prize.

Uses of the auxiliary be, according to Huddleston and Pullum are:
1. for deontic necessity, as in You are to come at once; where it is comparable
to subjective must or, more closely, objective have;
2. with a passive, where the interpretation can be strong deontic “must” (He

is to be left alone), or weak dynamic “can” (These ideas are to be found

throughout his later works). The authors emphasize that there is no active

counterpart to the second one. Negation here can be found in its strong and
weak case: internal in the strong case (He is not to be left alone, “must
not”), external in the weak case (They are not to be found in his later work,

“cannot”);

3. for future situations, in four ways:
a) Present schedule: There’s to be one more meeting.
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b) Past schedule: The lecture was to be followed by a buffet lunch. It is
not indicated whether the situation was actualized, but an implicature
of non-actualization can be expressed by using perfect tense: The
lecture was to have been followed by a buffet lunch.

¢) Future in the past: Only two weeks later he was to have a severe heart
attack. This belongs to fairly formal style, and does entail that the
event took place;

d) Past events following other pasts: She was to make amends later.

4. auxiliary be is also used when there is a possibility, or something is/was
unavoidable:

Mistakes were to be expected.

5. There are special uses of be in conditionals:

a) Open conditional clause: If we are to get there on time, we must leave
immediately. This example suggests purpose: “in order to get there on
time”;

b) Remote conditionals: If she was/were to come home now, we’d be in
real trouble. In remote conditionals, be generally serves merely to
reinforce the remote modality. This example is interpreted as “If she
came home now, we’d be in real trouble”.

Another type of the verb be or quasi-modal be is explained by Huddleston
and Pullum (ibid.: 114). It can’t appear in a secondary form: *| resent being not to
tell anyone. It has agreement form, it takes an infinitival with to, it can’t occur in a
remote apodosis, and its past tense form do not occur with the modal remoteness
meaning. The fact that it is labeled as quasi-modal indicates that in spite of its one
modal property and its modal meaning, this be doesn’t in fact qualify
grammatically as a modal. Examples are some fixed expressions like: Mary is to
blame. The house is to let. But not: *The house is to sell.

According to Quirk (1990: 36), the verb be is a main verb (with a copular
function) in the following examples:

Ann is a happy girl.
Is that building a hotel?
Additionally, Quirk states that be also has two auxiliary functions:
e as an aspect auxiliary for the progressive:
Ann is learning Spanish.
The weather has been improving.
e and as a passive auxiliary:
Our team has never been beaten.
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In these two auxiliary functions, Quirk (1974: 36) noticed the uniqueness
of the verb be, since it has a full set of both finite and non-finite forms, as well as
eight different forms which he listed in the table below.

NON - UNCONTRACTED CONTRACTED
NEGATIVE NEGATIVE NEGATIVE
Base be
1* person am, ‘m am not, ‘m not (aren’t, ain’t)
singular
3" person is, ‘s is not, ‘s not isn’t
Present singular
2" person, 1% are, ‘re are not, ‘re not aren’t
and 3"
person plural
1" and 3™ was was not wasn’t
person
singular
Past 2" person, 1 were were not weren’t
and 3"
person plural
-ing being not being
forms
-ed been
participle

According to Thomson and Martinet (1992: 116), the auxiliary verb be has
two forms when used in sentence construction. The first one is that of the principal
part (be, was, been), and the second form is gerund or present participle (being).

Thomson and Martinet listed all the forms of this verb in the two following

tables.

Present tense:

Affirmative Negative Interrogative
Lam/I'm I am not/I'm not Am 1?

You are/You're You are not/You re not Are you?

He is/He’s He is not/He’s not Is he?

She is/She’s She is not/She’s not Is she?
Itis/it’s It is not/It’s not Is it?

We are/We're We are not/We're not Are we?

You are/You're You are not/You 're not Are you?
They are/They re They are not/They 're not Are they?
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Past tense:

Affirmative Negative Interrogative

I was | was not/wasn 't Was 1?

You were You were not/weren’t Were you?
He/she/it was He/she/it was not/wasn’t Was he/she/it?
We were We were not/weren’t Were we?

You were You were not/weren’t Were you?
They were They were not/weren’t Were they?

The auxiliary verb be, as Thomson and Martinet state (ibid.: 117), is used
to form tenses. Be is used in continuous active forms, as in He is working/will be
working, as well as in all passive forms: He was followed/is being followed.
Additionally, be can be used in continuous forms in the passive:

They are carrying him. (active)

He is being carried. (passive)

One of the construction with the auxiliary verb be that Thomson and
Martinet (ibid.: 118) found very important is the be+infinitive construction, as in |
am to go. They found several usages of this construction.

The first would be to convey orders or instructions, as in the following
examples:

No one is to leave the building without the permission of the police. (no

one must leave)

He is to stay here till we return. (he must stay)

Thomson and Martinet explain that this is rather impersonal way of giving
instructions and is chiefly used with the third person. If used with the second
person singular, it often implies that the speaker is passing on instructions issued
by someone else. The difference between (a) Stay here, Tom and (b) You are to
stay here, Tom is that in (a) the speaker himself is ordering Tom to stay, while in
(b) he may be merely conveying to Tom the wishes of another person.

The be+infinitive construction is a useful way of expressing indirect
commands, particularly when the introductory verb is in the present tense, since the
distinction disappears in indirect speech. This is seen in the examples given by
Thomson and Martinet.

He says, ‘Wait till I come.’

He says that we are to wait till he comes.
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The construction is useful as well if there is a clause in front of the
imperative:

He said, ‘If I fall asleep at the wheel wake me up.’

He said that if he fell asleep at the wheel she was to wake him up.

It is also used in reporting requests for instructions:

‘Where shall I put it, sir?’ he asked

He asked where he was to put it.

The second use of the be+infinitive construction found by Thomson and
Martinet is to convey a plan:

She is to be married next month.

The expedition is to start in a week’s time.

This construction is very much used in newspaper’s:

The Prime Minister is to make a statement tomorrow.

In headlines the verb be is often omitted to save space:

Prime Minister to make a statement tomorrow.
Other than the present form, this construction can be seen in past forms as well, as
in:

He was to go. (present infinitive)

He was to have gone. (perfect infinitive)
As Thomson and Martinet explain, the first of these doesn’t tell us whether the plan
was carried out or not. The second is used for an unfulfilled plan. i.e. one which
was nor carried out:

The Lord Mayor was to have laid the foundation stone but he was taken ill

last night so the Lady Mayoress is doing it instead.

Another construction mentioned by Thomson and Martinet that has the
auxiliary be is was/were + infinitive, which can express an idea of destiny:

He received a blow on the head. It didn’t worry him at the time but it was

to be very troublesome later. (it turned out to be/proved troublesome)

They said goodbye, little knowing that they were never to meet again.

(were destined never to meet)

The third construction, be about + infinitive, expresses the immediate
future:

They are about to start. (They are just going to start/They are on the point

of starting.)
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Just can be added to make the future even more immediate:
They are just about to leave.

Similarity in the past:
He was just about to dive when he saw the shark.

According to Thomson and Martinet (ibid.: 119), the ordinary verb be
when used with an adjective denotes existence, or gives information about a person
or a thing.

Tom is a carpenter.

The dog is in the garden.

The roads were rough and narrow.

Peter was tall and fair.

Also, these linguists claim that be is used to express physical or mental
condition:

| am hot/cold.

They will be happy/unhappy.

With certain adjectives, e.g. quiet/noisy, good/bad, wise/foolish, it is
possible to use the continuous form of be, e.g. Tom is being foolish, to imply that
the subject is showing this quality at this time. However, Thomson and Martinet
compare the sentence Tom is being foolish, which means Tom is talking or acting
foolishly now, with Tom is foolish, which means that Tom always acts or talks
foolishly. Similarly, The children are being quiet means they are playing quietly
now, whereas The children are quiet might mean that they usually play quietly.

Thomson and Martinet list other adjectives that can be used in the same
way, and those are: Annoying, cautious/rash, clever/stupid, difficult,
economical/extravagant, formal, funny, generous/mean, helpful/unhelpful,
irritating, mysterious, optimistic/pessimistic, polite, selfish/unselfish. With some of
this, e.g. stupid, difficult, funny, polite, however, Thomson and Martinet noticed
that the continuous form may imply that the subject is deliberately acting in this
way:

You are being stupid may mean You are not trying to understand.

He is being difficult usually means He is raising unnecessary objections.

Thomson and Martinet explain that the ordinary be is used for age, size and
weight, as well as prices. They illustrated these uses with the following examples:
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How old are you? — I'm ten/I am ten years old. (not I'm ten years)
How tall are you? or What is your height? — I am 1.65 metres.

Thomson and Martinet (ibid.: 119) noticed that when a noun representing
an indefinite person or thing is the subject of the verb be we normally use a
there+be+noun construction. We can say A policeman is at the door but There is a
policeman at the door would be more usual.
Although there appears to be the subject, the real subject is the noun that follows
the verb, and if this noun is plural verb must be plural too:
There are two policemen at the door.

In the above sentences both constructions (noun+be and there+be+noun)
are possible. However, Thomson and Martinet explain that when be is used to
mean exist/happen/take place the there construction is necessary:

There is a mistake/There are mistakes in this translation.

These sentences could not be rewritten A mistake is/Mistakes are etc.
In the following examples, the authors marked with (R) the example in which the
there construction is replaceable by noun/pronoun-+verb:

There have been several break-ins this year.

There will be plenty of room for everyone.

There were hundreds of people on the beach. (R)

There can be used similarly with someone/anyone/no one/something etc.:

There’s someone on the phone for you. (R)

There+be+something/nothing/anything+adjective is also possible:

Is there anything wrong (with your car)? (R)

No, there’s nothing wrong with it. (R)

There’s something odd/strange about this letter.

A noun or someone/something etc. could be followed by a relative clause:

There’s a film [ want to see.

There’s something I must say.

Or by an infinitive:

There’s nothing to do. (nothing that we can do/must do)

The there construction can be used with another auxiliary+be:

There must be no doubt about this.

There may be a letter for me.

Or with seem+be, appear+be:



SIMILARITIES AND DIFFERENCES BETWEEN THE ENGLISH ... 115

There seems to be something wrong here.

Thomson and Martinet emphasize the difference between the unstressed

there used in the examples above, with there, stressed, and used as an adverb:
There’s a man I want to see. (he is standing by the door.)

In order to prevent confusion between the forms it is and there is, Thomson

and Martinet (ibid.: 120) compared the two and concluded that:

1.

itis is followed by an adjective, and there is by a noun
It is foggy or There is a fog.
It was very wet or There was a lot of rain.
It won't be very sunny or There won 't be much sun.
when referring to distance and time, there is a change in meaning:
It is time to go home. (We always start home at six and it is six how)
There is time for us to go home and come back here again before the film
starts. (That amount of time exists)
it is, used for identity, and there is followed by noun/pronoun:
There is someone at the door. I think it’s the man to read the meters.
There’s a key here. Is it the key of the safe?
it is, used in cleft sentences, and there is:
It is the grandmother who makes the decisions. (the grandmother, not any
other member of the family)
. and there’s the grandmother, who lives in the granny-flat. (the
grandmother exists)

There are various terms used by the English linguists when referring to the

verb be. When the verb be functions as auxiliary verb or copula, there are no other
terms. However, when functioning as a lexical verb, linguists refer to this verb as
lexical, full, or main verb. In this paper, the term chosen to be used is the lexical

verb.

3. THE VERB BVYII IN RUTHENIAN LANGUAGE

Julijan Rama¢ (Pamau 2002: 112) defines full verbs as all the verbs that

appear independently or in combination with an object, and denote an action
(vumay xuixcxy *Citac knjizku’). In the other group, there are those verbs which
appear with full verbs in the form of infinitive, and convey nuances of it. He refers
to these verbs as auxiliary verbs.
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Based on the lexical meaning, Ramac¢ (Pamaua 2002: 112) divides all the
auxiliary verbs into modals, phase verbs and copulas.

Modal verbs denote will, readiness and ability of the doer to do the action
denoted by the infinitive of the full verb: cyey, mouu, mywuy, wimey, 3nay, may,
paxosay, dymay. Ramac gives the following examples: Cuem yu dayo nosecy, He
MOXeM geyell yepnuy, MYIIAI we yo3ouniy, 3Ha kpawne wnueay, He mmem

nosecy, Hewixa mam nem yuuy. FOmpe paxyem wiuyko okonuuy. Jlymam noticy 0o

8apouty.

According to Ramac, phase verbs are those which denote some phases of
the action expressed by the infinitive of the full verb. In this case, the full verb is
always imperfective. The verbs nouay and nouunay are used to denote the
beginning phase: Bon mouan npunoseday, /[zeyxo nounna xoosuy. To denote the
continuous duration of an action, the verbs ocmay, ocmasay are used: Yuyx ocran
cnay y 6abu, Bon ecobomy ewe octaBa nomaeay poouyom. Verbs npecmay,
npecmasay express the end phase of an action: Ilpez pocnycm npecran yuuy,
[pecrasa dyy sumop.

Ramac (ibid.: 113) emphasizes that modal and phase verbs are considered
to be auxiliary verbs only when they appear in the sentence with an infinitive of a
full verb. If they are used independently or with an object in the accusative case,
these verbs are considered to be full verbs. For example (1) A cuem 3nay. (modal) —
A cyem soou. (full verb) (2) Cyeme noiicy na sunem. (modal) — A ne cyem maxu
wmamu. (full verb) (3) Houuna 6asuy guim. (modal) — Iouuna guam. (full verb)

The verb 6yy is used with a nominal predicate, and therefore Ramag¢ refers
to it as copula: 6yz 00bpu wxonsp, 6yoze xaon, newka kpacnu O3env. Together
with this verb, Ramac lists several other verbs that function as copulas, and those
are nocmay (nocman 8pedHu pobomuix), ocmay (ocman napacm), 4y8cmeosay uie
(uyecmeye wie 30pasu), npasuy we (npasu we gecenu), and sunampay (eunampa
CMYmMHU,).

Another Ruthenian linguist who discussed the verb 6yy is Mihajlo Fejsa.
Fejsa (dejca 2015: 14) explains that the verb 6yy is used as the main verb in the
imperfective aspect in the forms: com, wu, €, sme, cye, cy, and in the perfective
aspect: 6yozem, 6yosew, 6yoze, Oyozeme, Oyoseye, 6yoy. Both forms are used in the
construction of six verb phrases in Ruthenian language, where these forms have the
function of the auxiliary verb. The first form is used in the construction of the past
tense (npuwon com), and the active past tense (2 6y npuwon but 6yn com npuwon),
as well as the passive constructions 6ya+B-z (2 npusumanu, but npusumanu com),
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and 6yn+B-nu (a2 6yn nawusenu, but nawusenu com 6yn). The second form is used
when forming the constructions 6yodze-+V-y and 6ydse-O+V-uu.

According to Fejsa (ibid.: 15-17), there are twelve verb phrases in
Ruthenian language.

1.
2.

1.

V-g

a) V-n

b) V-n[+BVY1I-m]

a) BYI-n+V-n

b) BYIL-n[+BYI-M]+V-n
BYJ3E-g +V-i1

a) V-au

b) V-uu+BVI1{-g

a) BYL-n+V-an

b) BYJI-n[+BY1I-M]+V-uu
BYJ13E-g+V-uu

V-n[+com]
Ooynt+V-n
oyn[+com]+V-n
Ooymet+V-i[

V-uu+te
Oynt+V-au
Oyn[+com]+V-HN
Oym3et+V-Hu

The auxiliary verb 6yy appears in most active (2b, 3a, 3b u 4) and most
passive sentence constructions (5b, 6a, 6b u 7), where in the example 3b, the verb
occurs in two forms. Fejsa also found that the sentence constructions with the
modal 6u have even more variations.

a) bBU-g+V-i1

0) V-u+6u-g

B) V-11 +BU-¢[+BVYI1I-M]

a) bBU-g+V-n

0) V-n1+6u-g

B) V-n+bU-o[+bY1]-Mm]

a) bBU-g+bYI-1+V-n

0) BYILI[-n+6u-g+V-n

B) V-n+BU-o[+BYII-M]+BVYII-n
a) bBU-g+bY1l-g+V-uu

6) BYLl-0+0u-g+V-uun

B) V-un+bU-¢[+BYII-M|+bVY1l-g
a) BU-g+BYL-n+V-un

0) BYIL[-n+6u-g+V-uu

B) V-un+bU-o[+bYI-M|+BY1[-n

on+V-i

V-11+0um
V-11+0ou[+coMm]
ou+V-i

V-nm+6um
V-n+6u[+com]|
ou-+Ooyn+V-n
Oyn+oum+V-1
V-n+6u[+com|+0yn
ou-+Ooy+V-au
Oy+oum+V-ai
VHu+6u[+com | +0y11
Oou+Oyn+V-Hu
Oyn+0oum+V-Hu
V-Hu+6u[+coM|+0yi
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The lexical verb 6yy is used in the sentence construction that is equivalent
to the English sentence construction S+BE+complement, as noticed by Fejsa
(Dejca 2015: 30). In both languages, the verb BE/BYL] is the main verb. However,
there is one difference, and that is that the present forms of the verb 6yy (com, wu,
€, 3me, cye, cy) do not appear on the surface structure when the subject is uttered.
However, they do appear when the subject is not uttered.
la. That’s mine.
1b. To motio. Motio e.

When the subject is not specified, the lexical verb 6yy in the third person
singular and plural in the present tense has the forms e and cy. (®ejca 2005: 39)

Aty Ty com
Tu Ty Ty mm
BoHn Ty Tye
Bona 1y Tye
BoHo Ty Tye
Mu Ty Ty 3me
Bu 1ty Ty cue
Bonu Ty Ty cy

The same relationship of the subject and the verb 6yy was noticed by Fejsa
(ibid.: 38) where the verb is used as an auxiliary in the past tense.

S nmon Hion com
Twu umron Hmron mm
Bon nmron Wmon
Bona umna WNmna
Bono ummio Hmo
Mu ynmnn N 3me
Bu nmmnn W cue
Bonn nnnm Nmn

The lexical verb indicates the gender (example, the second person singular
uwon wiu) and number (uwon, uwna, uwno for singular, and wuwu for plural). The
function of the auxiliary verb 6yy is to specify the person, which is not specified
with the subject.
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Another function of the auxiliary verb 6yy noticed by Fejsa (Dejca 2005:
40-41) is to form one of three paradigms of the conditional mood. The first two
paradigms differ due to the appearance of the subject in the sentence.

a) S 6m pumon b) TIpumron 6um
Tu Ou npumon [Mpumron 6umr
Bon 6u npumon [Ipurmon 6u
Bona 6u npumua [Mpumna 6u
Bono 6u mpurmuio [Ipurmuro 6m
Mu Ou mpunu [Mpumm 6usme
Bu 61 mpummm [Mpumnm 6ucte
Bonu 6u npunmm [Mpummm 6u

In the paradigm b), the 6um, 6uw, 6u, 6usme, 6ucye, 6u are the changing
elements of the verb phrase, whereas in the paradigm a) that element is constant 6u.

In the third type of paradigm, Fejsa states that the auxiliary 6yy in its forms
com, wu, sme, cye is used to denote the person and number.

[pummon 6u com
[pummon 6w 1w
[pumon 6u
[Mpunina 6u
[pumio 6u
[Mpunmm 6uzme
[Mpunumu Gucue
[pumm 6u

The inversion of the lexical verb and the subject in questions is possible in
Ruthenian language with most of the verbs. The lexical verb of Ruthenian language
functions in the same way as the primary auxiliary verbs and modal verbs in
English.

Therefore, as noticed by Mihajlo Fejsa (®ejca 2005: 43) the auxiliary verb
6yy with its future forms (6yosem, 6yoszew, 6yose, 6yoszeme, 6yoseye, 6y0y) can
change its position with the subject in order to form a question (example: Tu
6yoszew ecy. Byoszew mu ecy?). However, the same cannot be done with the past
tense forms of the verb 6yy (com, wu, €, sme, cye, cy), since precisely the absence
of the subject is the condition for their appearance. For example, if from the
sentence HMwon wu, the question *IIlu wwon? is formed, this would not be
grammatically correct. The inversion of this form of the auxiliary verb and the
lexical verb is possible only with the use of the particle vu (9u wu uwon?, but *Yu
uwon wiu?).
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In Ruthenian language, in negative form of a sentence is formed by adding
the particle ne always before lexical, modal or auxiliary verb. The same is with the
auxiliary 6yy, as is seen in the example A4 ne 6yozem ucy). In addition, the negative
particle He cannot be contracted with the verb, thus it is always written separately
and in front of the verb, as in the examples ue 6ydzem, ne moscem, ne mam given by
Fejsa (ibid.: 44).

4. CONTRASTING ENGLISH VERB BE AND RUTHENIAN VERB 5VI]

In order to analyze the similarities and differences between be and 6yy, the
examples from the English grammars were taken and translated into Ruthenian
language. The examples were translated by eleven students in total, four of which
study Ruthenian language on the Faculty of Philosophy in Novi Sad, and the
remaining seven students learn Ruthenian as their second language on the same
faculty.

The examples given and their translation of them are the following:

1) Ann is learning Spanish. AHa y4u HIMAHCKU.

2) Ann was awarded a prize. AmHa jocrana Harpafuy.

3) They are carrying him. Bownu ro Horia.

4) He is being carried. Homenu €. / Hora ro.

5) He is to stay here till we return. Bon My Ty ocTail J0K 1€ HE BpaliMe.

6) She is to be married next month. Bona 111e o1aBa NUTiIy00ro MeIana.

7) There’s to be one more meeting,. Bym3e uie /ey €qHa cxaa3ka.

8) The lecture was to be followed by a IpenoxaBane OyI0 MPOBaA3EHE 303
buffet lunch. MOJTY/A3€HKOM.

9) The lecture was to have been [Ipenoxnasane Tpebano Oy NpoBaa3eHe 303
followed by a buffet lunch. TOJTYI3CHKOM.

10) Mistakes were to be expected. I'puiiku Oyiin 00YeKOBaHU.

11)  If she was/were to come home now, Ken 6u Tepas npunuia romy, Oynu 6usme y
we’d be in real trouble. BeJIbKEH HEBOJII.

12) Tomis a carpenter. Tom cronap.

13) The dog is in the garden. Iec y 3arpam.

14)  The roads were rough and narrow. Jparu Oyiu Y4eXKH U y3KH.

15)  Peter was tall and fair. [etpo Oy Bucoku u Os1IH.

16) 1 am hot/cold. Lenno/’xumMHuO Mu.

17)  They will be happy. Bonu Oy1y 1meniiBy.

18)  There are two policemen at the door.  Ha n3Bepox nBoMe moaunaiiim / moJImIiae.

19)  There is a mistake. €cT rpuiika.

20)  There have been several break-ins this  Toro poxy Oy gackenabo 0OHBaHs.

year.
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21)  There will be plenty of room for Bym3e Benmbo MecTa 3a MIUIKAX.
everyone.

22)  There were hundreds of people on the  Ha rutaxku 6yno 1ackesibo CTOTKH JIFOI30X.
beach.

23) Itis foggy. IToxmapeHe.

24)  There is a fog. €cT MOJITH.

5. CONCLUSION

Based on the original sentences in English language and their translation
equivalents into Ruthenian, as well as the research done by previously mentioned
linguists of both languages, conclusions about similarities and differences between
the verbs be and 6yy can be made.

When denoting existence or giving information about a person or a thing,
as well as expressing physical or mental conditions, lexical verb be is used in
English language where it functions as a copula. From this, a similarity with
Ruthenian verb 6yy can be seen, since this verb, as well as the previous one, has a
function of a copula. In both languages, for past tense, the past forms of these verbs
are used, which means was and were for the verb be, and 6yx, 6yza, 6yr0 and 6yau
for the verb 6yy. The same principle is applied for the future. However, since the
verb be has no future forms, the construction will+be or shall+be is used. In
Ruthenian language, the verb 6yy has future forms and those are 6ydszem, 6yoseuw,
oyoze, byozeme, 6yoseye, 6yoy, wWhich are adequately used where needed. The
present tense is where the two verbs differ in their use, since in English the present
forms am, is and are are used, and in Ruthenian the copula is not used at all,
because the subject and a nominal predicate form the sentence.

The construction there+be+noun is used when there is a noun which
represents an indefinite person or thing, where the form of the verb be is in
agreement with the tense of the sentence. In Ruthenian, however, there in this
sense does not have an equivalent, which means that the verb 6yy in its past or
future forms is used to denote the same meaning. A difference in the present tense
is noticed, where instead of the verb 6y, ecm is used.

The auxiliary be functions as an aspect auxiliary in English language.
However, in Ruthenian, the aspect is not denoted by the auxiliary 6yy in either of
the tenses, which means that in this meaning and function the auxiliary verb be has
no translation equivalent, rather the whole sentence is translated in passive voice.
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The be+infinitive construction is versatile and useful in English language,
but it cannot be directly translated in Ruthenian since there is no such construction
in this language. For this reason, the sentences are translated with passive voice, in
which structure for present tense the verb 6yy is not included, for past tense the
past tense forms are used, and for future tense the future form 6yose is used. If
there is an implication that the action was not actualized, which is denoted by
perfect tense in English, the verb mpe6a in the needed form and the verb 6yy in
that same form are used together to denote that meaning. Another use of this
construction is found in forming conditionals, which in Ruthenian as well contain
the verb 6y in their structure, where this verb denotes person and number.

Mapuna llnemennep

TTOJIOBHOCIIN U PO3JIMKY MEJI3U AHTJIMICKUM Ji€CJIOBOM BE U PYCKUM
JI€CIIOBOM BVI]

VY norepamiHix poOOTOX PYCKUX JIMHIBUCTOX Majo IIIE¢ BHUIJIENOBAIH IMOJAOOHOCIH U
PO3IHKHU TOTO S3MKA 303 AHITHMICKHUM, U IpaBe e Ou IIe BHUIJIeIoBalKa pobdora Gapkeit
YHalpsameia ry TOMY, AK U XKC OH 1€ MOBEKIIAJIO0 YHCIIO TaKUX KOHTPAaCTUBHUX pO6OTOX,
HamucaHa Tota po6orta. KOHTpacTHUpyIOIM aHITHICKe AiecioBo be u pycke AiecaoBo 6yy,
Hamaraso IIe ykasar oOujBa TOTH Ai€ciioBa Ha MHIIIAKH CHOCO0.

VY nepmie yacuu poOOTH MpeACTaBSHH HaW3HAYHEHIIIA BUTIIENOBAKA POOOTH PEIICBAHTHU
3a TOTy TeMy, Iepiie aHITHICKHX, a MOTUM W PYCKHUX JHHIBUCTOX. [locime kpartkeit
TEOpPHUITHEH YacIy, MPeJCTaBeHH KOPIYC pOOOTH, XTOPH IPEACTaBs I'Pyla BUPEUCHHOX Ha
AHITUICKUM SI3WKY M iX TPEeKNIaj Ha PYCKH s3HUK. [Ipe3 MOpOBHOBaHE OPUTHHAIHHX
BUPEUEHHOX M IX MPEIKIaZ0X, JIOCTaTH 3aKIIOUCHS XTOPH NPEICTABEHH Y JIUCKYCHHHEH
gaciy po0oTH, a3¢ Oyaze Oemean o MoJ00OHOCIIOX M PO3IUKOX THX JIBOX JIECTIOBOX 110 IIIE
JIOTHKA UX XaCHOBaH:, GOpMHU U QyHKIHH.

Kntounu cnoea: pycku s3uK, aHIJIMHACKH A3UK, KOHTPACTHPAHE, IieciioBo be, miecioBo o6yy
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